RHER

BHTEE RS RERE T YRR R T

& A - Bk iy & # | # OE
[EEET R 34,071,360 + 4,537,373 38, 608, 733
HEAFE 34,071, 360
HmERE 4,537,373
T DA 34,071,360 x 42.86% (30% = (1 — 30%) ) 14. 602, 984
XBRE 38,608,733 + 14,602, 984 53,211.717
—ﬁ%‘&‘ﬁﬁ% 53,211,717 x 53.85% (35% + (1 — 35%) ) — 6.226 28, 648. 283
SFE S 53,211,717 + 28,648,283 81, 860. 000
HEHEESE 81,860,000 x 10.00% 8.186. 000,
E3:2-3250 81,860,000 + 8, 186, 000 90. 046, 000,
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& i g - BT iy B Fi] ® M W=
R 38. 608, 733,
IR RHEMDRFTE &S 38,608, 733
BRI RMEIER 38, 608, 733
ik Sk FEEE T 30 34,071, 360
EITRERIEME T 33,713,760
1T BRI AREHEE 12,00 938, 690 11, 264, 280).
A
2 BT R ESNET 12,00 1, 870, 790 22, 449, 480,
A
aw 298, 000
3 e 10,00 29, 800 298,000,
[E
0l - /e 59, 600,
4 158 - B (amtm)/ 1.00 29, 800 29, 800,
=
b ik - BE (REWE) 1.00, 29, 800, 29, 800
4 %
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_ 5 B35 - BRTE ey B & & wOE
HERER : 4,537,373
ERHENERES L UEREE 1.200, 000
S EEROMEREE S EERE 1.00 1,200, 000 1,200, 000
=
R 88, 000
7 RBERESE 1.00 88, 000, 88, 000
=
RERENEREE UM ES 2, 268, 000
t REEFEEREB L UMR LS 1.00 2. 268,000 2. 268, 000
=
BEELE 327,124
EEARE 1.00 327,124 327,124
=
EEREHEE 654, 249/
10 BEBEREY 1.00 654, 249 654, 249,
=






